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2AN: 230l
ZM: YA AW YSHSIALAB/2502)
&t XNg2s8 s (CH9: &S1)
SN - B S(B) - HPAY - BAS ofl b0 G o HDS2
01 XN K2EE 55,000 0 55,000
OAF=23& SHS2 =4 30,000
OEN2SE X 2 XA 25,000
220=0 ot 250,000 300,000 250,000
308 AXIHHSOIH 250,000 300,000 250,000
01 JXISHMBAEEZ 250,000 300,000 250,000
o2&zl stote 250,000
A& =2sas 8435 51,800 3,500 48,300
201 LEr2AH| 4,800 3,500 1,300
01 AtR2teld| 4,800 3,500 1,300
OXNY=EeE?]s &d 4,800
203 PR =&IH| 47,000 47,000
03 AIZHF=RIHREEIY| 47,000 47,000
o230z 8™ =X 47,000
NEME 435 K3 28,600 39,940 11,340
201 LEtEHd| 4,000 4,000 0
01 AFR22t2lH| 4,000 4,000 0
OXENE /AR3S 29 4,000
403 RIXISHHSK=20|H 24,600 35,940 A 11,340
01 AIXISHNA2EE 24,600 35,940 A 11,340
T OISAE EHFE 24,600
=stsAl X 20,010 20,010
308 AXIHHSOIA 20,010 20,010
01 AIXHMBANEEZ 20,010 20,010
0ZE ZHRE HAEE 20,010
SSIBIAIE S XISES 9,615,900 1,896,295 7,719,605
K252 Al&H| X (HEALS) 80,000 0 80,000
403 XIXIHXMS K20 A 80,000 0 80,000
01 AXISHHMA2E X 80,000 0 80,000
OUUS =SeRsHYH W 28t B4 (M 80,000
MEISSIHIE XA (MEAIY) 1,275,000 550,000 725,000
403 RIXISHHSK=20|H 1,275,000 550,000 725,000
01 AIXISHNA2EE 1,275,000 550,000 725,000
OEd <0 A Z0IHSHE (X&) 225,000
OQIHl 2XI23HHIE (MEt) 300,000
O =& MEgoc(XMEtH) 750,000
S0lsl2 HE X (HEAIY) 3,600,000 200,000 3,400,000
403 XEXIHXMS K20 A 3,600,000 200,000 3,400,000
01 AIXISHHX2EE 3,600,000 200,000 3,400,000
OHE Z&230sg el2del(Me 1,600,000
OHYHISH=s 2 2|2 (ME) 2,000,000
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2A:

Y AR30| AW YSHIIL2D/2300S)

Rl dEE3 243 (Gt &2l
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OtSCH2 0I0K] EHLIAIE (R 1) 462,388 532,698 A70,310

2 323,672
= 138,716
307 2I2+0IA 462,388 532,69 AT0,310
2 323,672
== 138,716
02 QIFA A A X 462,388 532,698 AT70,310
OOISCHR 010k ED{LIAY 462,388
2 323,672
== 138,716
H2D D2 2L A8 X 230,175 255,040 24,865
307 2I2+0IA 212,175 228,040 15,865
02 QIIAMAIAEE 28,210 44,075 A 15,865
oL I RI| X 9,320
O0%01 243 X 18,890
10 ALBISXAI S B H2EH 2 183,965 183,965 0
OFOIZRAIL 2 X 183,965
308 XIXIHHISOIH 18,000 27,000 9,000
01 XX SHHZASES 18,000 27,000 29,000
OS0I2E3| +0SAA LY 18,000
AHES 012FE 2o 13,400 16,696 N3,2%
201 LEr2g| 13,400 16,696 A3,2%
01 A2 2telt| 13,400 16,696 N3,2%
OAEES DIEHE MRS 2Y 13,400
2215 2350z XA 50,000 50,000
307 QIF0IA 50,000 50,000
02 QIIAMAIA T 50,000 50,000
OZOel Sar2E 50,000
2215 2519 ABH2D) 8,956,260 8,004,830 951,430
pJ 8,187,480
=S 768,780
308 XiXIEHHISOIH 8,956,260 8,004,830 91,430
Il 8,187,480
= 768,780
01 AXSHHB XS 8,956,260 8,004,830 951,430
OSE=2310/12A A 8,956,260
Jl 8,187,480
= 768,780
2215 25HAY A5 35,485 30,000 5,485
201 LErH2 | 3,000 0 3,000
01 AR 22/l 3,000 0 3,000
OSER30I182 A 29 3,000
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SM: 28051
M Yoo IYH L2 2Y/20s
ol EA2 e 2 28 243t AR CEREED
SA - ZE - BR(3) - HRA - B of v G o HIDE2
A2 g & 29 243 X3 5,561,180 3,036,210 2,514,940
= 549,000
== 5,002,150
HEZA2 AFY X2 30,000 60,000 /30,000
308 AXIHSO0IA 30,000 60,000 30,000
01 HRHHBAEES 30,000 60,000 /30,000
OUHEHEAZ A XI& 30,000
33 M2 AE X2 (HEAY) 4,834,500 2,450,000 2,384,500
403 AXIEHMSAH=201H 4,834,500 2,450,000 2,384,500
01 XIS A=E £ 4,834,500 2,450,000 2,384,500
O¥> SN2 HE(HE) 356,000
Oz oM A-(HE) 2,262,000
o7 ZYZM2 A (HE) 521,500
oYY ZEZM2 HE(HE) 1,695,000
STEAMZ H2AIZE HEXR(=21) 549,000 405,210 143,790
[ 549,000
308 AHXIEMSOIH 549,000 405,210 143,790
= 549,000
01 AXENBSELES 549,000 405,210 143,790
OSEE= A2 HEAIZ HEXA 549,000
= 549,000
A2 N TH(HEAY) 97,000 112,000 /15,000
403 AXIEHHS X201 97,000 112,000 /15,000
01 AXIEHM A =2 £ 97,000 112,000 A15,000
O1Nd OIEZHYUENCTE 3 A (HE 97,000
A2oh 24 & 24 6,900 9,000 22,100
403 X SHHMSAH=01H 6,900 9,000 22,100
01 AXISHHA =2 £ 6,900 9,000 22,100
OX2ENAS 28 243t 6,900
N2 2 SAES gdat 16,750 16,750
201 er2 3| 8,750 8,750
01 AtR2t2|HI 8,750 8,750
oA & SMES 2dat =8 8,750
202 04| 7,000 7,000
01 =LHOLI 7,000 7,000
O=ANZ & SKA=23 8435 =8 7,000
stel= SNEE ==z 18,000 0 18,000
308 XXM SOIA 18,000 18,000
01 XN BSELES 18,000 18,000
ouel= SAMEE ==U= 18,000
ZetEd=ay |4 17,147,200 9,411,200 7,736,000
[ 12,196,000
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A3,400
A3,400
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A46,300

240,000
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MEE
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1,215,200

4,900
4,900
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1,030,300
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1,950,000

1,950,000

1,950,000

1,950,000

1,950,000

1,950,000

Ofl &F28
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SM: 28051
A AR ZHY (2t 2/25H0=)
thel: S2E=LMY 4 EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OFEd =3t=Al &4 1,950,000
= 1,500,000
== 450,000
28 2T Al =4 (=21) 1,950,000 1,950,000 0
[ 1,500,000
= 450,000
308 AtXIEHMSOIE 1,950,000 1,950,000 0
[ 1,500,000
= 450,000
01 AXEHBSEES 1,950,000 1,950,000 0
028 =at=Al =4 1,950,000
s 1,500,000
=S 450,000
9e BSEAl 24(22) 1,950,000 0 1,950,000
= 1,500,000
& 450,000
308 AHAIEMSOIE 1,950,000 0 1,950,000
[ 1,500,000
= 450,000
01 AXEH B EES 1,950,000 0 1,950,000
Og3 =3=A =4 1,950,000
[ 1,500,000
= 450,000
HAHAIE S FESY SEHMAI (2 D) (H2) 8,005,000 1,201,000 6,854,000
= 6,196,000
< 1,859,000
403 MR HHMSAHE01H 8,055,000 1,201,000 6,854,000
[ 6,196,000
S 1,859,000
01 MHXIHHA 22X 8,005,000 1,201,000 6,854,000
Osoff FEERAA 1,300,000
[ 1,000,000
= 300,000
Oz H2dsd 1,565,000
s 1,196,000
== 369,000
O#= HAHAIE 5,200,000
[ 4,000,000
S 1,200,000
Y 2AZHI(230=1) (OIEH/DIE 47,703 33,432 14,271
=34 47,703 33,432 14,271
2A29 J1=3hl 47,703 33,432 14,271
201 er=23| 29,523 23,676 5,847
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M 23

M HARAZHI(230=2) (OIEH/DIE
=l JlI=3H| (Gt M)
RA B - SRA(E) - MIRA - BES ol &t G o HIDEY
01 AtR22te|bl 29,523 23,676 5,847
ORAN2E AtR2t2/ 29,523
202 O] 7,980 6,156 1,824
01 2L A 7,980 6,156 1,824
SAEE UL 7,980
203 BRI 10,200 3,600 6,600
01 J| 22 E =8| 6,600 0 6,600
O=2stNE=E 6,600
M FA2HLRFAI 3,600 3,600 0
©202! Olat 3,600
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